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Section A ( 40 marks)

Answer ALL questions in the spaces provided.

1. Evaluate

a) 0.4 ( 0.4 ( 0.02

b) 4.32 – 3.54 + 0.22








Answer    a)……………………………[1]









     b)…………………………...[1]
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Answer    a)……………………………[1]









     b)…………………………...[1]


3.
Express 25.149 correct to 

a) 1 decimal place

b) 1 significant figure








Answer    a)……………………………[1]









     b)…………………………...[1]


4. Express  74 cm in metres, giving your answer

a) as a decimal

b) in standard form








Answer    a)……………………………[1]









     b)…………………………...[1]
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Answer    a)……………………………[2]









     b)…………………………...[1]


6. A map is drawn to scale of 1 cm : 200 m.

a) Calculate the actual distance, in kilometres, represented by 7.5 cm on the map.

b) Two towns are 1250 m apart, find the distance on the map between them.








Answer    a)……………………….km [1]









     b)………………………cm [1]


7. a)   In a sale, all prices are reduced by 20 %. Calculate the original price of an article

            whose sale price is $64.

      b)   The marked price of an article is 30 % higher than its cost price. The shopkeeper

sold the article at 30 % discount in the marked price. Find the percentage gain or 

loss in this transaction.








Answer    a)……………………………[1]









     b)…………………………...[2]


8. Divide $ 7200 into two parts such that the simple interest on one part is at 6½ % per annum for 4½ years would be equal to the simple interest on the other at 4½ % per annum for 5½ years. Find the values of the two parts of money in this case.








Answer    ………………………….....[3]


9.
a)
If the cost of beef is $12.00 per  kilogram, find the mass in grams of a piece of 


      beef  which cost $ 4.80 .

      b)  A man walks 9 km at 6 km/h and then jogs 18 km at 12 km/h. Find his average


speed for the whole journey.








Answer    a)…………………………g  [1]









     b)……………………...m/h  [2]


10. A bank exchanges United States dollar for British pound at the rate of 1.60 dollars to the pound. Calculate

a) in dollars, the amount received for 150 pounds

b) in pounds, the amount for $800 by a customer who had to pay an extra 2% commission for this transaction.








Answer    a)……………………dollars [1]









     b)…………………..pounds [2]


11. a)
Calculate the total time required for 5 journeys each of 1 h 34 min.

b)   i)  A marathon race started at 11 55 and one of the runners reached the finish at 


    15 37. Calculate the time taken by this runner.


ii) Another runner took 25 minutes for the first 8 km. If he continued to run at the 

          same steady speed, calculate the time taken for the next 12 km.








Answer    a)………….h…………min [1]









     b i)…..……h…………min [1]










     b ii)………………….mins [2]

12.






In the diagram, ABC and ACD are isosceles triangles in which AB = AC = AD and 

      (BAC = (ACD = 74( . Calculate


a)   i)
(CAD

ii) (BCA


b)  What special type of quadrilateral is ABCD ?








Answer    a i)……..…………………º  [1]









    a ii)……………………….º  [2]










     b)…………………………  [1]
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Answer    a)……………………………[1]









     b)…………………………...[2]


14.
a)
Solve the equation  4y – (3-y) = 1


b)
Given that p = 2, q = 3 and r = -5, evaluate

i) 4q² 

ii) (p - q)(q - r)








Answer    a) y =…..…………………….[2]









     b i)...………………………...[1]










     b ii).…………………………[1]

Section B (30 marks)

15. a)  Write down the number of  lines of symmetry possessed by an equilateral triangle.

b)  The diagram below shows a piece of paper which has been folded along its line of

     symmetry AB. Complete the diagram to show the original shape of the piece of 

     paper.













   [2]




i) A regular polygon has nine sides. Find

ii) the sum of the interior angles

iii) the value of one of the interior angles.








Answer    a)……………….…………..[1]









     c i)………………………….[1]










     c ii)……..…………………..[1]

16. The pie chart illustrates the value of various goods sold by a certain shop.

a) Calculate the value of xº.

b) Given the total value of the sales was $ 21 600, find the sales value of toys

c) Which type of goods sold has a value of less than 1/6 of the total value of the sales?












Answer    a)x =…..………………..…º [2]













     b)…………………………...[2]










     c)……………………………[1]

17. John can do a piece of work in 8 days and Peter can do the same piece of work in 6 days. They work on it together for two days, and then Peter stops working altogether. a) What fraction of work can i) John and ii) Peter complete in one day?

b) What fraction of work can they complete in the 2 days working together?

c)  How long will it take John to complete the remaining part of the work by himself? 








Answer    a i)……………ii)……………[2]









     b)……………………….…....[1]










     c)………………………days [2]

18. A basketball player scored an average of 17 points per game for the first 8 games of the tournament. On the ninth game, he scored 24 points and on the tenth game, x points. 

a) Given that the total number of points scored is 180 points, calculate the value of x.

b) If the average point for the 10 games is 20, calculate the value of x.








Answer    a) x =..………………………[2]









    b) x =.……………………….[3]


19. The diagram shows concentric circles A, B and C of radius 21 cm, 14 cm and 7 cm respectively.









a) Find the circumference of circle A.

b) Find the area of circle B.

c) Find the area of the shaded region.(Take   
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Answer    a)…………………….…cm  [1]









     b)………………………cm² [2]










     c)………………………cm² [2]

20. The bar chart below illustrates the number of non-fiction books in a school library. 

a) Calculate i) the total number of non-fiction books



   ii) the percentage of Commerce books

b) If  45 students borrowed these non-fiction books, what is the average number of

      books borrowed per student?





















Answer    a i)……………………books [1]









     a ii)………………………% [2]










     b)……………..……  books [2]
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